mean # PXL hits vs eta

<pixel hits>

Ratio

e 12 3

| mean # PXL Layers with measurement vs eta

<pixel layers>
N w »
N a1 w a1 s a1
I

=
NS
[

o
o
I

.....................................................................

o+ R

Rati

=
T T T 1==T T T 1

0.95

|
w

M TMRET_T T _Terain-tow

mean # STRIP hits V|

<strip hits>

vl lwlwle
- OQOQd
Z§|Z|Z
3333
~x
I

t
“mkFIit_TT_NEWdefau IFt)_specPLessl-Iowpt
EWdefault”specPLess2-lowpt
EWdefault"specPLess3-lowpt

83 I 0 1 2 3

_NEWdefault_specPLess4-lowpt

O

>

7

6

<strip layers

51T o 1 2 3



	Contents
	Page 1


